On Relationships for Moments of k-th Record Values from Lomax Distribution

Sanjay Kumar Singh

Department of Statistics, PGDAV College University of Delhi, India

Abstract

In this paper, we establish some recurrence relations satisfied by single and product moments of k-th record values from Lomax distribution.

Keywords & Phrases: Order Statistics, Single moments, product moments, record times, k-th record values, recurrence relations. Lomax distribution.

I. Introduction

Let $\{X_n, n \ge 1\}$ be a sequence of i.i.d. random variables with c.d.f. $F(x) = P[X \le x]$ and p.d.f. f(x). For a fixed $k \ge 1$ we define the sequence $\{U_n^{(k)}, n \ge 1\}$ of k- th upper record times of $\{X_n, n \ge 1\}$ as follows:

$$U_1^{(k)} = 1$$

$$U_{n+1}^{(k)} = \min\{j > U_n^{(k)} : X_{i:i+k-1} > X_n^{(k)} : U_n^{(k)} + k - 1\}$$

For K=1 and n=1,2,...,we write $U_n^{(1)} = U_n$. Then $\{U_n, n \ge 1\}$ is the sequence of record times of $\{X_n, n \ge 1\}$. The sequence $\{y_n^{(k)}, n \ge 1\}$, where $y_n^{(1)} = X_{u_n}^{(k)}$ is called the sequence of k-th upper record values of $\{X_n, n \ge 1\}$. Chandler (1952) introduced record values and record value times. Feller(1966) gave some examples of record values with respect to gambling problems. Properties of record values of i.i.d. r.v.'s have been extensively studies in the literature for example see Nagaraja(1988), Nevzorov(1987), Arnold, Balakrishnan and Nagaraja (1992), Balakrishnan and Ahsanullah (1994) and Ahsanullah(1995). For convenience, we shall also take $y_0^{(k)} = 0$. Note that for k=1 we have $y_n^{(1)} = X_{u_n}^{\setminus}$, $n \ge 1$, which are the record values of $\{X_n, n \ge 1\}$. Moreover, we see that $y_1^{(k)} = \min(X_1, X_2, ..., X_k) = X_{1:k}$.

Then the pdf of $y_n^{(k)}$ and $(y_m^{(k)}, y_n^{(k)})$ are as follows:

$$f_{y_n}^{(k)}(x) = \frac{k^n}{(n-1)!} \left[-\ln(1 - F(x))^{n-1} (1 - F(x))^{k-1} f(x) dx; n \ge 1, \right]$$
(1.1)

$$f_{y_m}^{(k)}, y_n^{(k)}(x, y) = \frac{k^n}{(m-1)!(n-m-1)!} [\ln(1-F(x)) - \ln(1-F(y))]^{n-m-1} [-\ln(1-F(x))]^{m-1} \cdot \frac{f(x)}{1-F(x)} [1-F(y)]^{k-1} \cdot f(y)$$

$$x < y; 1 \le m < n, n \ge 2.$$
(1.2)

We present recurrence relations for moment of $y_n^{(k)}$ and product moments of $(y_m^{(k)}, y_n^{(k)})$ when X has the Lomax distribution with p.d.f.

$$f(x) = \gamma (1+x)^{-\gamma - 1} , x \ge 0, \gamma > 0.$$
 (1.3)

And the c.d.f.

$$F(x) = 1 - (1+x)^{-\gamma}, x \ge 0.$$

It is easy to see that in this case that

$$(1+x)f(x) = \gamma\{1 - F(x)\}, \ x \ge 0, y > 0. \tag{1.4}$$

The relation in (1.4) will be used to derive some simple recurrence relations for the single and product moments of k-th record values from Lomax distribution. Using these relations we give characterization of the Lomax distributions. In this paper we will establish some recurrence relations for single and product moments of k-th record values from Lomax distribution. Lomax (1954) used this distribution in analysis of business failure data. Similar recurrence relations from Lomax and other related distribution are also available in the literature (See David (1981), Similar results for linear exponential were derived by Saran and Singh(2008).

Notations

1.
$$\mu_{(n):k}^r = E(y_n^{(k)})^r$$
; $r, n = 1, 2, ...,$

$$2. \mu_{(m,n):k}^{r,s} = E\left(\left(y_m^{(k)}\right)^r \left(y_n^{(k)}\right)^s\right): 1 \le m \le n-1 \ and r, s, m, n = 1, 2, ...,$$

II. Relations for Single and Product Moments

Theorem 2.1. Fix a positive integer $k \ge 1$. For $n \ge 1$ and r = 0, 1, 2, ...,

$$E(y_n^{(k)})^{r+1} = \frac{r+1}{k\nu - r - 1} E(y_n^{(k)})^r + \frac{\nu}{k\nu - r - 1} E(\gamma_{n-1}^{(k)})^{r+1}$$
(2.1)

Proof: For $n \ge 1$ and r=0,1,2,..., we have from (1.1) and (1.4)

$$E(y_n^{(k)})^r + E(y_n^{(k)})^{r+1} = \frac{k^n}{(n-1)!} \int_0^\infty x^r (1+x) \cdot f_{y_n}^{(k)}(x) dx$$

$$= \frac{k^n}{(n-1)!} \int_0^\infty x^r (1+x) (-\ln(1-F(x))^{n-1} (1-F(x))^{k-1} f(x) dx$$

$$= \frac{k^n}{(n-1)!} v \int_0^\infty x^r \left(-\ln(1-F(x))^{n-1} (1-F(x))^k dx\right)$$

Integrating by parts, taking x^r as the part to be integrated rest part under differentiation we get (2.1).

$$\frac{k^{n}v}{(n-1)!} \left[\left| \frac{x^{r+1}}{r+1} \left\{ -\ln(1-F(x)) \right\}^{n-1} \left[\left(1-F(x) \right) \right]^{k} \right|_{0}^{\infty} \\
- \int \frac{x^{r+1}}{r+1} \left[(n-1) \left\{ -\ln(1-F(x)) \right\}^{n-2} \frac{f(x)}{1-F(x)} \left(1-F(x) \right)^{k} \right. \\
+ K \left(1-F(x) \right)^{k-1} \left(-f(x) \left\{ -\ln(1-F(x)) \right\}^{n-1} \right] dx \\
= \frac{k^{n+1}v}{(n-1)!} \int \frac{x^{r+1}}{r+1} \left\{ -\ln(1-F(x)) \right\}^{n-1} \left[1-F(x) \right]^{k-1} \cdot f(x) dx \\
- \frac{k^{n}v}{(n-2)!} \int \frac{x^{r+1}}{r+1} \left\{ -\ln(1-F(x)) \right\}^{n-2} \left(1-F(x) \right)^{k-1} f(x) dx \\
= \frac{kv}{r+1} E \left(y_{n}^{(k)} \right)^{r+1} - \frac{v}{r+1} E \left(y_{n-1}^{(k)} \right)^{r+1} \\
E \left(y_{n}^{(k)} \right)^{r+1} + \left(y_{n}^{(k)} \right)^{r+1} = \frac{kv}{r+1} E \left(y_{n}^{(k)} \right)^{r+1} - \frac{v}{r+1} E \left(y_{n-1}^{(k)} \right)^{r+1} \\
Or \left(r+1 \right) E \left(y_{n}^{(k)} \right)^{r} + \left(r+1 \right) E \left(y_{n}^{(k)} \right)^{r+1} = kv E \left(y_{n}^{(k)} \right)^{r+1} - v E \left(y_{n-1}^{(k)} \right)^{r+1} \\
Or \left(kv - r - 1 \right) E \left(y_{n}^{(k)} \right)^{r+1} = \frac{r+1}{kv} E \left(y_{n}^{(k)} \right)^{r} + \frac{kv}{kv} E \left(y_{n-1}^{(k)} \right)^{r+1} \\
\therefore E \left(y_{n}^{(k)} \right)^{r+1} = \frac{r+1}{kv} E \left(y_{n}^{(k)} \right)^{r} + \frac{kv}{kv} E \left(y_{n-1}^{(k)} \right)^{r+1} \\$$

Corollary 1: By repeatedly applying recurrence relation in (2.2) we get $n \ge 2$, $1 \le m \le n - 1$ and r=0,1,2,..., and $\nu > r+1$

$$E(y_n^{r+1}) = \left(\frac{r+1}{k\nu - r - 1}\right) \sum_{p=0}^{n-m-1} \left(\frac{k\nu}{k\nu - r - 1}\right)^p . E(y_{n-p}^{(k)})^r + \left(\frac{k\nu}{k\nu - r - 1}\right)^{n-m} . E(y_m^{(k)})^{r+1}$$

$$(2.3)$$

Corollary 2: Write $(r+1)^{(p)}=1$ for p=0 & $(r+1)^{(p)}=(r+1)-(r-p)$, $forp \ge 1$ By repeated application of the recurrence relation in (2.2), we obtain for $n \ge 2$, r=0,1,2,... and $\nu > r+1$

$$E(y_n^{(k)})^{r+1} = \nu \sum_{n=0}^{r+1} \frac{(r+1)^{(p)}}{(k\nu - r - 1 + p)^{(p+1)}} E(y_{n-1}^{(k)})^{r+1-p}$$
(2.4)

Putting p=1 in (2.1) the results of Balakrishnan and Ahsanullah (1994) easily be established Theorem 2.2: For $m \ge 1$ and r,s=0,1,2,....

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s+1}\right] = \frac{k\nu}{k\nu - s - 1}E\left(y_{m}^{(k)}\right)^{r+s+1} + \frac{s+1}{k\nu - s - 1}E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s}\right] \quad (2.5)$$

For $1 \le m \le n - 2$ and r,s= 0,1,2,...,

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s+1}\right] = \frac{k\nu}{k\nu - s - 1}E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s+1}\right] + \frac{s + 1}{k\nu - s - 1}E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s}\right] \quad (2.6)$$

Proof: From (1.2) for $1 \le m \le n-1$ and r,s=0,1,2,... and using (1.4) we get

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s}\right] + E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s+1}\right] = \iint_{x < y}^{\infty} (x^{r}y^{s} + x^{r+1}y^{s}) f_{m,n}(x, y) dy dx$$

$$= \frac{k^n}{(m-1)!(n-m-1)!} \int_0^\infty x^r \left\{ -ln(1-F(x)) \right\}^{m-1} \frac{f(x)}{1-F(x)} I(x) dx \tag{2.7}$$

Where
$$I(x) = \int_{x}^{\infty} y^{s} (1+y) \{-\ln(1-F(y)) + \ln(1-F(x))\}^{n-m-1} f(y) dy$$

$$= \nu \int_{x}^{\infty} y^{s} \{-\ln(1 - F(y)) + \ln(1 - F(x))\}^{n-m-1} \{1 - F(y)\}^{k} dy$$
(Upon using(2.1))

$$= \frac{k\nu}{s+1} \left[\int_{x}^{\infty} y^{s+1} f(y) dy - x^{s+1} \{1 - F(x)\} \right] , forn = m+1$$

$$= \frac{k\nu}{s+1} \left[\int_{x}^{\infty} y^{s+1} \left\{ -\ln(1-F(y)) + \ln(-1-F(x)) \right\}^{n-m-1} [1-F(y)]^{k-1} f(y) dy \right]$$

$$-(n-m-1)\int_{x}^{\infty} \left\{-\ln(1-F(y)) + \ln(1-F(x))\right\}^{n-m-2} \frac{f(y)}{1-F(y)} (1-F(y))^{k-1} dy,$$
for $n \ge m+2$

The last two equations are derived by integrating by parts upon substituting the above expression of I(X) in equation (2.7) and simplifying the resulting equations, we obtain

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s}\right] + E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s+1}\right]$$

$$= \frac{k^{n}}{(m-1)! (n-m-1)!} \int x^{r} \{-\ln[f]]$$

$$-F(x)\}^{m-1} \frac{f(x)}{1-F(x)} \frac{k\nu}{s+1} \left[\int_{x}^{\infty} y^{s+1} \{-\ln(1-F(y)) + \ln(1-F(y))\}^{n-m-1} \left[1-F(y)\right]^{k-1} f(y) dy$$

$$-(n-m-1) \int_{x}^{\infty} \{-\ln(1-F(y)) + \ln(1-F(x))\}^{n-m-2}$$

$$\frac{f(y)}{1-F(y)} (1-F(y))^{k-2} f(y) dy dx, \quad \text{for } n \ge m+2$$

$$= \frac{k\nu}{s+1} \left\{ E\left[\left(y_{m}^{(k)}\right)^{r} \left(y_{n}^{(k)}\right)^{s+1}\right] - E\left[\left(y_{m}^{(k)}\right)^{r} \left(y_{n-1}^{(k)}\right)^{s+1}\right] \right\}$$

We obtain, when n=m+1 that

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s}\right] + E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s+1}\right] = \frac{k\nu}{s+1}\left\{\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s+1} - E\left(y_{m}^{(k)}\right)^{r+s+1}\right\}$$

$$E\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s+1} = \frac{k\nu}{k\nu - s - 1}E\left(y_{m}^{(k)}\right)^{r+s+1} + \frac{s+1}{k\nu - s - 1}E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s}\right]$$

Putting k=1 in (2.5) and (2.6) we get the recurrence relations simply by rewriting the above equations

Theorem 2.3: For $m \ge 2$ and r,s=0,1,2,...,

$$E\left[\left(y_{m}^{(k)}\right)^{r+1}\left(y_{m+1}^{(k)}\right)^{s}\right] = \frac{k\nu}{r+1}\left\{E\left(y_{m}^{(k)}\right)^{r+s+1} - E\left[\left(y_{m-1}^{(k)}\right)^{r+1}\left(y_{m}^{(k)}\right)^{s}\right]\right\} - E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s}\right] \quad (2.8)$$

And For $1 \le m \le n - 2$ and r, s = 0, 1, 2, ...,DOI: 10.9790/5728-1105055963

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s}\right] = \frac{k\nu}{r+1}\left\{E\left(y_{m}^{(k)}\right)^{r+1}\left(y_{n-1}^{(k)}\right)^{s} - E\left(y_{m-1}^{(k)}\right)^{r+1}\left(y_{n-1}^{(k)}\right)^{s}\right\} - E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s}\right]$$

Proof From (1.2), let us consider for $2 \le m \le n - 1$ and r,s=0,1,2,...,

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s} + \left(y_{m}^{(k)}\right)^{r+1}\left(y_{m}^{(k)}\right)^{s}\right] = \int_{x < y}^{\infty} (x^{r}y^{s} + x^{r+1}y^{s}) f_{m,n}(x, y) dx dy$$

$$= \frac{k^{n}}{(m-1)!(n-m-1)!} \int_{0}^{\infty} y^{s} f(y) J(y) dy \qquad (2.10)$$

Where

$$J(y) = \int_0^y x^r (1+x) \{-\ln \mathbb{I} 1 - f(x)\}^{m-1} \{\ln(1-F(x)) - \ln \mathbb{I} 1 - F(y)\}^{n-m-1} \frac{f(x)}{1-F(x)} dx$$

$$= kv \int_0^y x^r \{-\ln \mathbb{I} 1 - F(x)\}^{m-1} \cdot \{\ln(1-F(x)) - \ln \mathbb{I} 1 - F(y)\}^{n-m-1} dx \quad (Using(1.4))$$

$$= \frac{kv}{r+1} \left[y^{r+1} \{-\ln \mathbb{I} 1 - F(y)\}^{m-1} - (m-1) \int_0^y x^{r+1} \{-\ln \mathbb{I} 1 - F(x)\}^{m-2} \cdot \frac{f(x)}{1-F(x)} dx \right]$$

$$= \frac{kv}{r+1} \left[(n-m-1) \int_0^y x^{r+1} \{-\ln \mathbb{I} 1 - F(x)\}^{m-1} \frac{f(x)}{1-F(x)} \cdot \{-\ln \mathbb{I} 1 - F(y) + \ln \mathbb{I} 1 - F(x)\}^{m-1} \frac{f(x)}{1-F(x)} \cdot \{-\ln \mathbb{I} 1 - F(y) + \ln \mathbb{I} 1 - F(x)\}^{m-1} \frac{f(x)}{1-F(x)} \cdot \{-\ln \mathbb{I} 1 - F(y) + \ln \mathbb{I} 1 - F(x)\}^{m-1} \frac{f(x)}{1-F(x)} \cdot \{-\ln \mathbb{I} 1 - F(y) + \ln \mathbb{I} 1 - F(x)\}^{m-1} \frac{f(x)}{1-F(x)} \cdot \{-\ln \mathbb{I} 1 - F(y) + \ln \mathbb{I} 1 - F(y)\}^{m-1} \frac{f(x)}{1-F(y)} \cdot \{-\ln \mathbb{I} 1 - F(y)\}^{m-1} \frac{f(x)}{1-F(y)} \cdot \{-\ln \mathbb{I} 1 - F(y)\}^{m-1} \cdot \{-\ln \mathbb{I} 1 - F(y)$$

As before the last two equations are obtained by integration by parts upon substituting the above expressions of J(y) in equation (2.10) and simplifying the resulting equation

$$= \frac{k^{n}}{(m-1)! (n-m-1)!} \int_{0}^{\infty} y^{s} f(y) \cdot \frac{kv}{r+1} [n-m-1]$$

$$\int_{0}^{y} x^{r+1} \{-\ln \mathbb{C}1 - F(x)\}^{m-1} \frac{f(x)}{1 - F(x)}$$

$$\{-\ln \mathbb{C}1 - F(y) + \ln \mathbb{C}1 - F(x)\}^{n-m-2} dx - (m-1) \int_{0}^{y} x^{r+1} \{-\ln \mathbb{C}1 - F(x)\}^{m-2}$$

$$\frac{f(x)}{1 - F(x)} \{\ln \mathbb{C}1 - F(x) - \ln \mathbb{C}1 - F(y)\}^{n-m-1} dx\}$$

We obtain when n=m+1 that

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{m+1}^{(k)}\right)^{s} + \left(y_{m}^{(k)}\right)^{r+1}\left(y_{m}^{(k)}\right)^{s}\right] = \frac{k\nu}{r+1}\left\{E\left(y_{m}^{(k)}\right)^{r+s+1} - E\left[\left(y_{m-1}^{(k)}\right)^{r+1}\left(y_{m}^{(k)}\right)^{s}\right]\right\}$$

And when $n \ge m + 2$ that

$$E\left[\left(y_{m}^{(k)}\right)^{r}\left(y_{n}^{(k)}\right)^{s} + \left(y_{m}^{(k)}\right)^{r+1}\left(y_{n}^{(k)}\right)^{s}\right]$$

$$= \frac{k\nu}{r+1}\left[E\left(y_{m}^{(k)}\right)^{r+1}\left(y_{n-1}^{(k)}\right)^{s} - E\left(y_{m-1}^{(k)}\right)^{r+1}\left(y_{n-1}^{(k)}\right)^{s}\right]$$

The recurrence relations in (2.8) and (2.9) are derived simply by rewriting the above equations

Corollary: By repeated application of the recurrence relations in (2.8) and (2.9) for $m \ge 1$ & r,s=0,1,2,...,

$$E\left[\left(y_{m}^{(k)}\right)^{r+1}\left(y_{m+1}^{(k)}\right)^{s}\right] = \sum_{p=0}^{m-1} (-1)^{p} \left(\frac{k\nu}{r+1}\right)^{p} \left\{\frac{k\nu}{r+1} E\left(y_{m-p}^{(k)}\right)^{r+s+1} - E\left(y_{m-p}^{(k)}\right)^{r} \left(y_{m-p+1}^{(k)}\right)^{s}\right\}$$

And for $1 \le m \le n - 2$ and r,s=0,1,2,...,

$$E\left[\left(y_{m}^{(k)}\right)^{r+1}\left(y_{n}^{(k)}\right)^{s}\right] = \sum_{n=0}^{m-1} (-1)^{p} \left(\frac{k\nu}{r+1}\right)^{p} \left\{\frac{k\nu}{r+1} E\left(y_{m-p}^{(k)}\right)^{r+1} \left(y_{n-p-1}^{(k)}\right)^{s} - E\left(y_{m-p}^{(k)}\right)^{r} \left(y_{n-p}^{(k)}\right)^{s}\right\}$$

III. Applications

For the Lomax distribution, exact distributional results for appropriate pivots useful for relevant inference are not available (Ahsanullah(1991)). The results established in this paper and some similar generalization can be used to compute all moments of order up to four and hence can be utilized to determine mean, varience, skewness and kurtosis etc.

IV. Conclusion

In the study presented above, we demonstrate the recurrence relation for single and product moments of k-th record values from Lomax distribution. These results generalized the corresponding results of Saran and Singh(2008).

References

- [1]. Ahsanullah,M.(1991), Record values of the Lomax distribution,Volume45,Issue1March 1991,Pages 21-29
- [2]. Ahsanullah,M.(1995),Record statistics .Nova Science Publishers ,Inc. Commack,NY,USA.
- [3]. Balakrishnan,R. and Ahsanullah,M.(1994).Recurrence relations for single and product moments of record values from generalized a Pareto distribution. Commun.Statist. Theory Meth., 23(10), 2841-2852
- [4]. Chandler, K.M. (1952). The distribution and frequency of record values. J. Roy. Statist. Soc, 14(5): 220–228. Ser. B
- [5]. David, H.A. (1981), Order statistics, New York; Toronto: J. Wiley, ©1981.
- [6]. Feller, W. (1966). An Introduction to Probability Theory and Its Applications, Vol. 2, New York: John Wiley and Sons.
- [7]. Lomax,K.S.(1954) Business Failures: Another Example of the Analysis of Failure Data,JASA,49,847-852.
- [8]. Nagaraja, H.N. (1988). Record Values and Related Statistics-A Review, Commun. Statist. Theor. Meth. 17,2223-2238.
- [9]. Nevzorov, V.B. 1987. Records. Theo. Prob. Appl, 32: 201–228
- [10]. Saran, J. and Singh, S.K., (2008). Recurrence Relations for Single and Product Moments of k-th Record Values from Linear-Exponential Distribution and a Characterization. Asian Journal of Mathematics & Statistics, 1: 159-164.

Sanjay Kumar Singh Department of Statistics, PGDAV College University of Delhi, India